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2.2
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General Marking Notes
General Marking Principles

Please note that it is not possible to list all acceptable alternatives in the Detailed Mark
Scheme provided in Section 3. You will need to consider all alternative answers and
unexpected approaches in candidates' scripts, make a decision on whether they
communicate the required elements, in consultation with your Team Leader if necessary
(or with your Product Manager if you are a single Examiner), and award marks
accordingly.

The following marking principles underpin the detailed instructions provided in Section 3 of the
Mark Scheme. Where a decision is taken to deviate from these principles for a particular
question, this will be specified in the Mark Scheme.

Often the general principles will have to be weighed up against each other, e.g. the answer
might pass the look-alike test (2.5(b)), but if the candidate has produced an answer that is
another word in French they will not score (2.6).

Crossing out:

(a) If a candidate changes his/her mind over an answer and crosses out an attempt, award a
mark if the final attempt is correct.

(b) If a candidate crosses out an answer to a whole question but makes no second attempt at it,
mark the crossed out work.

More than the stipulated number of boxes ticked/crossed by the candidate:

(a) If more than one attempt is visible, but the candidate has clearly indicated which attempt is
his/her final answer (e.g. by crossing out other attempts or by annotating the script in some
way), mark in the usual way.

(b) If two attempts are visible (e.g. two boxes ticked instead of the 1 box stipulated), and neither
has been crossed out/discounted by the candidate, no mark can be awarded.

(c) In questions where candidates are required to tick a number of boxes (e.g. tick the 6 true
statements) the general rule to be applied is as follows: the number of 'extra' answers
indicated by the candidate is deducted from their number of correct answers and the
remaining number is the mark awarded, e.g. the candidate is required to tick 6 true
statements, but instead ticks 8 statements. 5 of the ticks are correctly placed, but 2 of the
ticks are 'extras' (8 ticks placed by candidate minus 6 ticks required by rubric = 2). Therefore
the candidate is awarded a mark of 3

5 number of correct ticks
—2 minus number of extra ticks
=3

(d) Answers in pen do not take precedence over answers in pencil, e.g. if a candidate is asked
to tick 1 box and ticks two, one in pen and the other in pencil, the mark cannot be awarded
unless there is some explicit indication from the candidate as to which is his/her final
answer.
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2.5

2.6

2.7

2.8

For questions requiring more than one element for the answer, (i) and (ii), where the
answers are interchangeable:

Both correct answers on line 1 and line 2 blank = 2
Both correct answers on line 1 and line 2 wrong =1
(or vice-versa)

Answers requiring the use of French (rather than a non-verbal response) should be marked for
communication. Tolerate inaccuracies provided the message is clear.

(a) ‘If in doubt, sound it out’: if you read what the candidate has written, does it sound like the
correct answer?

(b) Look-alike test: does what the candidate has written look like the correct answer?
(c) Accept incorrect gender or person unless Mark Scheme specifies otherwise.

(d) Accept incorrect possessive adjectives, e.g. mon, ton, son etc., unless Mark Scheme
specifies otherwise.

(e) Accept incorrect tense unless Mark Scheme specifies otherwise.
(f) Tolerate incorrect auxiliary unless Mark Scheme specifies otherwise.

(g) Tolerate incorrect use of infinitive unless Mark Scheme specifies otherwise.

Unless the Mark Scheme specifies otherwise, do not accept incorrect French if the word
given means something else in French. (Incorrect French which constitutes a word in any
language other than French is marked (i) on the basis of whether it is accepted or refused in the
Mark Scheme and (ii) if not mentioned in the Mark Scheme, on the basis of 2.5 above).

Where words are combined or split inappropriately do not award the mark, e.g. ‘sonpére’
and ‘lar ticle’ (inappropriate splitting or combination is an indication that the candidate has not
understood).

Annotation used in the Mark Scheme:

(@) INV = Invalidation and is used when additional material included by the candidate is
judged to invalidate an otherwise correct answer thus preventing them from scoring the
mark (INV = 0).

(b) tc = ‘tout court’ and means that on its own the material is not sufficient to score the mark.

(c) HA = harmless additional material which in conjunction with the correct answer does not
prevent the candidate from scoring the mark.

(d) BOD = Benefit of the Doubt and is used to indicate material considered by the Examiner
and judged to be more correct than incorrect: the benefit of the doubt is given to the
candidate and the mark is awarded.
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2.9 No response and '0' marks

There is a NR (No Response) option in scoris. Award NR (No Response):

o If there is nothing written at all in the answer space or

. If there is only a comment which does not in any way relate to the question being asked
(e.g. 'can’t do' or 'don’t know') or

. If there is only a mark which isn’t an attempt at the question (e.g. a dash, a question
mark).

Award 0:

. If there is any attempt that earns no credit. This could, for example, include the candidate

copying all or some of the question, or any working that does not earn any marks, whether
crossed out or not.
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2.10 Extra material:

It is the candidate’s responsibility to answer questions in such a way as to demonstrate to the
Examiner that s/he has understood the recorded material. Where candidates introduce extra,
irrelevant material to an otherwise correct answer the danger is that the Examiner is being
forced to ‘choose’ the correct answer and s/he cannot be certain that the candidate has shown
understanding. Where the Examiner is put in this position the mark cannot be awarded. The
Detailed Mark Scheme cannot cover all eventualities and where specific instructions are not
provided, Examiners must check the transcript to ensure the correct elements which would
qualify for the mark are not contradicted or distorted by any extra material. The following,
general, rules should be applied:

(a)

Extra material, mentioned
in the Mark Scheme,
which reinforces the
correct answer or in itself
constitutes an alternative
correct answer:

this is acceptable and is not penalised

by the candidate and
which does not feature in
the original transcript:

(b) | Extra material which the Examiner needs to decide, by consulting the transcript and
constitutes an alternative | the Team Leader if necessary, whether the alternative answer
answer, but which is not | constitutes:
explicitly mentioned in
the Mark Scheme: (i) an alternative correct answer, in which case this falls into

category (a) and the answer should be rewarded
(i) or an answer which on its own would be refused, in which
case this falls into category (c) and the answer should be refused

(c) | Extra material which this puts the Examiner in the position of having to ‘choose’ which
constitutes an alternative is the candidate's 'final' answer — the Examiner cannot be sure
answer specifically what the candidate has understood — and the mark cannot be
refused in the Mark awarded
Scheme:

(d) | Extra material which this affects communication — the Examiner cannot be sure what
distorts or contradicts the | the candidate has understood — and the mark cannot be
correct answer: awarded

(e) | Extra material introduced | this affects communication — the Examiner cannot be sure what

the candidate has understood — and the mark cannot be
awarded. It can sometimes be difficult to draw the line between
what is a deduction made by an able candidate on the basis of
what they have heard and pure guesswork. Therefore where a
particular answer is not covered in the Mark Scheme, Examiners
should consult their Team Leader
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Section 1
Exercice 1 Questions 1-8
ACCEPT REFUSE

1 C [1

2 B [1]

3 A [1]

4 B [1]

5 D (1]

6 D (1]

7 B (1]

8 C [1 [Total: 8]
Exercice 2 Questions 9-16

ACCEPT REFUSE
9 octobre [1] | any other month = inv
oktobre / october / octombre

10 B [1]

1 B [1]

12 C [1]

13 A [1]

14 C (1]

15 A [1]

16 C [1] [Total: 8]
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Section 2

Exercice 1 Question 17

A mark out of 6 is entered for the whole exercise in the mark input box.
USE MARKING TOOL TO TICK ‘v’ EACH CORRECT ANSWER UNLESS ALL 6 CORRECT
If more than 6 boxes are ticked by the candidate, indicate ‘working’ in ‘Comments’ box: e.g. 7

boxes ticked of which 6 are correct use formula 6 — 1 = 5 (where 1 = the number of extra boxes
ticked).

Amélie
(a) v
(b)
(c) v
Alex
(d) v
(e) v
(f)
Coraline
(9)
(h)
(i) v
Noél
)]
(k) v
(1) [Total: 6]
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Exercice 2 Questions 18-27

Part 1

ACCEPT

REFUSE

18

Paris [1]

Must start «par...»

Examples of acceptable spellings of
«Paris»: Pari(e) / Parri

19

technologie [1]
Must start «tech(o)no...»

«tec(o)no...»

«tek(o)no...»

«teck(o)no...»

+

Must end «...logi(e)
«...logy»
«...legi(e)»
«...legy»

20

dif(ficil(e) [1]
Must start «dif(f)...», e.g. dif(ficle / dif(f)cile

Also accept synonym, e.g. dur(e)

difficult

21

EITHER: (1]
bruyants
Must start «bru(i)y...»

«brui...»

«bruill...»

+

Must end «...ant(s)»

«...ent(s)»
«...ont(s)»
Also accept: bruitant(s)
OR:
bruit

Must start «brui...», e.g. brui/ bruis

anything beginning with «bro...» / «bri...» /
«bry...»

bruilent / bruilant (refuse single «I»)

bruillient (refuse «...ient»)
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ACCEPT REFUSE
22 EITHER: [1]

Attempt at noun: jeu(x)
Must start «jeu...»

+

Mustend «...x»
«...8»
«...t»
«...e»

OR:

Attempt at verb: jouer

Accept any part / any tense of «jouer»,
including «joue(s)»

Also accept: «jou»

IGNORE attempts at «d’...», e.g. «d’jeux» /
«d’jouer»

dejeux (see marking principle 2.7)

juex (does not start «jeu...»)
guex (does not start «jeu...»)

Part 2
ACCEPT REFUSE

23 carte(s) [1

cart(s) card

karte(s) / kart(s) cartent

g(u)arte

If attempt at «carte» is acceptable then

ignore attempts at «...tous les pays du

monde»

Accept «affiche» / «poster» or equivalent if affiche tc

the notion of «pays» is conveyed
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24 EITHER: [1]

patient

Must start «pat...»

+
Mustend «...ient»
«...iant»

Also accept: «pacient»

pacion

anything beginning «pas...», e.g. passion /
passionnant

OR:
e patience

pacience pasience (refuse «pas...» — see above)
25 EITHER: [1]
e crier griller

cri / crier / faire crier / ne pas crier
Accept any part / any tense of «crier»
Also accept as spelling of «crier»:
criy(e) / criyé / criyer / criyent

cry(e) / cryé / cryer / cryent

OR:

(se mettre en) colére

(il ne se met pas) en colére
(il fait son travail) en colére

cryient (not an acceptable spelling — see list)

souvent (en) colére
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26 EITHER: 1
o vit vetete
velo / bicyclette / cyclisme vdt
OR:
e kayak
Must start: «kay...»
«cay...»
+
Must end: «...ak»
«...ac»
«...ack»

NB

«...aq(ue)»

If both concepts are attempted and one is
correct then ignore attempts at the other

27

NB

EITHER: [1]
fatig(u)ant
Must start «fatig...»

+

Must end «...(u)ant»
«...(u)e»
«...(u)ent»

<...(u)eant»

a

Also accept any part / any tense of
«fatiguer»
IGNORE attempts at rendering «métier»

OR:
devoirs a «corriger»

Acceptable spellings of «corriger» must
begin: «corri(e)g...» / «cori(e)g...» /
«cor(r)eg...»

If both concepts are attempted and one is
correct then ignore attempts at the other
unless it distorts (eg «devoirs a faire» =
wrong message)

fatigeons (doesn't fit accepted endings and is
not part of the verb «fatiguer»)

devoirs tc (incomplete)
devoirs a faire = INV
devoirs and fatigant = ha
[Total: 10]
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Section 3
Exercice 1 Questions 28-33

ACCEPT

REFUSE

28
29
30
31
32
33

(1]
(1]
(1]
[1]
(1]
(1]

WO>X>O0OWO0

[Total : 6]

Exercice 2 Questions 34-42

ACCEPT

REFUSE

34 10 minutes /10 mins /10 m /10 mn 11
Spellings of «minute» must start «min(i)ut»

Acceptable spellings of «dix»: dis / diz

minuit(s)

dix minutes avant une heure = INV

35 (i) and (iii) [1+1]
Concept 1 and 2 can appear in any order

e CONCEPT 1: avoiding / not taking + public
+ transport

o éviter (les) transports (en) co(m)mun
Spellings of «commun»

Must start «com(m)...»

elle déteste les transports en commun tc but
ha («déteste» does not = avoiding or
not taking)

éviter (les) transports (incomplete without
idea of «ccommuny / «public»)

+
Must end «...un(e)» com(m)ain («...ain(e)» is not an acceptable
«...en(e)» ending)
«...on(e)»
«...an(e)»
«...in(e)»
o ne prendre (les) transport(s) public(s) /
publique(s) / pas prendre (les)
transport(s) public(s) / publique(s)
e CONCEPT 2: (se) lever plus tard (le matin) | éléve(r)

Accept any part / any tense of «lever»

réveiller plus tard le matin («réveiller» =
wrong message)

NB 2 correct answers on line 1, line 2 blank = 2; 2 correct answers on line 1, line 2

wrong = 1 (or vice versa)
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ACCEPT REFUSE
36 EITHER: [1]
e (trop) cher(e)(s) trop(s)cher (see marking principle 2.7)
cherre
OR:
e prix

Must begin: «pri», e.g. pris / pri / prit / prie

IGNORE attempts at «codter»

37

anxieuse

(1]

Must start: «anxi...»

«anci...»

«ansi...»

«ansci...»
+

Must end: «...eus(e)»
«...eux(e)»
«...us(e)»
«...ous(e)»

38

EITHER: [1]

(qu’elle faisait) attention

attencion / attension

(elle est) attention / (elle est) attentif / (elle
est) attentive

OR

(qu’elle était) prudente
prudence

compris les attention = INV

39

conduir(e) (en) ville [1]

Accept any part / any tense of «conduire»

IGNORE attempts at «appris»

conduire tc
conduire a I'ecole = INV

trés utile = tc but ha
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ACCEPT REFUSE

40

LOOK FOR CONCEPT of stopping at / not
going through (red) light(s) [1]

Idea of at / through can be expressed with a
variety of prepositions, e.g. «avanty,
«derriérey», «eny, «poury, «a coté dey,
etc.

(s’) arrétait aux feu(x) / rouges

(s’) arrétait aux feu(x)

(s’) arrétait aux rouge(s) («feux» not needed
in French to convey red lights)

attendre au(x) feu(x) / rouges
attendre au(x) feu(s)

attendre au(x) rouge(s)

ne / pas passer les feu(x/s) / les rouges

attendre au signe rouge («signe» introduces
wrong concept)
arrétait feux rouges (no idea of at/through)

lampe (ha if «rouge» is provided)
lumiére (ha if «rouge» is provided)

41

voleur(s)
vol / voler(s)

[1]

Also accept any part / any tense of «voler»

42

moin(s) indépendante

[1]
Spellings of «indépendante»:

Must start: «i(n)dep...»
«i(n)dip...»
«i(n)dap...»

+

«en...»
«in...»
«an...»

+
Must end: «...ant(e)»
«...en(t) / «...ent(e)»
«...in(t)» / «int(e)»

moi indépendante
mois indépendante
moine indépendante

[Total: 10]
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